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THEXy « T - FER - 5 MO LFENAL B G EHAm & T2 (BB
BV
= 1 186, 941, 378
T e R T
= 1 182, 202, 090
E¥LT
= 1 2,459, 158
R L
= 1 179, 742, 932
SRS (A) 25H% JRIEER AR X 28. 0m JE
AE 27.0m
e 34 928, 379 31, 564, 886
SRS (B) 2505 JRIEER AR X 28. 0m JE
AE 27.0m
e 34 929, 129 31, 590, 386
SRS (C) 2507 JRIEER AR X 22, 5m JE
AE 21.5m
e 42 683, 062 28, 688, 604
SRS (D) 2507 JRIEER AR X 22, 5m JE
AE 21.5m
e 42 693, 283 29, 117, 886
SRS (E) 2507 JRIEER AR X 23. 0m JE
AE 22.0m
e 6 693, 752 4,162,512
SRS (F) 2507 JRIEER AR X 23. 0m JE
AE 22.0m
e 6 703, 880 4, 223, 280
SRS (G) 2507 JRIEER AR X 22, 5m JE
AE 21.5m
e 34 738, 764 25,117, 976
SRS (H) 2507 JRIEER AR X 22, 5m JE
AE 21.5m
e 34 743, 453 25, 277, 402
fFHFE R T
= 1 2, 854, 140
TAT 7 MifZE T
HLE AR (A)
= 1 1, 606, 992
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H T2 (BB
& e (OE - D) FAITyveTy RC-30 {0 E 110
mm
m2 584 603. 8 352,619
e R (R - B RIEEFIRE A M-30 {1 =V E 70
mm
m2 584 561.9 328, 149
FE (FaE - B BRI T A (13) A3 40m
m 3. Omtd
m2 584 1,586 926, 224
TAT 7 MifZE T
HLE AR (B)
= 1 786, 656
FE (FaE - B BRI T AT (13) 4 40m
m 3. Omtd
m2 496 1,586 786, 656
Pk &Y T
= 1 60, 352
TR HEK
m 7 1,729 12,103
25 H N HEAK
m 9 5, 361 48, 249
fxa L
= 1 400, 140
RHEBESRT ny) BFE (180/205 X 250 X 600)
BB-1-3 (200) # Z= % &
m 95 4,212 400, 140
HEE
= 1 655, 153
RS B L T
= 1 547, 180
AR BT TAT7VMEHZERR 15emEl
m 18 512.9 9,232
LR TAT 7V MEREERR SHEERRE 15emPl
m2 1, 080 498. 1 537, 948
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TEHR LB T
= 1 107, 973
I TAT 7 bk
m3 43 1,410 60, 630
ALy TAT 7 bk
m3 43 1,101 47, 343
Gan
= 1 1, 229, 995
THHER T
= 1 59, 087
- F - B T
= 1 1,055, 111
1R IE T
= 1 115, 797
B TR
= 1 186, 941, 378
MR E
= 1 16, 307, 316
B3 TS
= 1 3,726, 372
TR
= 1 2, 119, 995
TR AR T 3 1=
= 1 2, 105, 263
IERA TR 3.2t
= 1 14, 732
BIGREsET (K30
= 1 1, 606, 377
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
HIMGERE (FE L)
= 1 12, 580, 944
Wi
= 1 203, 248, 694
B
= 1 44, 816, 332
T AT
= 1 248, 065, 026
— R
= 1 37, 284, 974
TS
= 1 285, 350, 000
THEBLFH Y %H
= 1 28, 535, 000
TH#&G
= 1 313, 885, 000
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